Pizza and Wings
Grace and Frank are two food cart proprietors at Grove and Libbie avenues near campus, who also like to eat wings and pizza.  Although they are dedicated to their businesses, let’s face it, consumption is the end of economic activity, right?
1.  If Grace devotes all of her time to producing wings, she can produce 30 wings in a day and if she devotes all of her time is to pizzas, she can produce 10 pizzas in a day.
Frank can produce 10 of each (wings, pizza) in a day if all of his time is devoted to each in turn.
Suppose the prices of the goods in the market are: each wing sells for $1.00, each pizza sells for $2.00.
Suppose Frank started out producing an equal number of pizzas and wings. 
a. Draw a PPC for Frank for a day and mark his initial point by the letter “a”. Place wings on the ordinate or “y” axis and pizza on the “x” axis.  Label all relevant items clearly.
  
b. From that precise point above (part “a”), Frank decides to specialize.  Exactly how much is the maximum he could gain of the other good (that he does not specialize in) per day and maintain his initial consumption of the good he has a comparative advantage producing?  Show the net gains from trade for Frank on a PPC curve and provide the exact number (in goods, not money).  Explain your answer.
 Notes:  Assume that Frank could buy or sell as much of either good as he wants in a market without affecting the prices of wings and pizzas.  Explain your answer.
[bookmark: _GoBack]2.  Suppose Grace starts out producing 5 pizzas and 15 wings in a day.  Suppose she wants to continue to consume 5 pizzas, but wants to increase her consumption of wings.  Suppose she can buy and sell as much has she wants of either good in a market. By how much can she increase her wing consumption through specialization and trade?  What is Grace’s total consumption of wings before and after trade?  Show this on a PPC  and explain
